


Installation Instructions: 

1. Begin by removing the stock door. Remove the 13mm bolt and nut on the upper mounting bracket and the 13mm bolt on the 

lower mounting bracket.  

2. With the door in the open position, tilt the front of the door down and pull the upper mounting bracket out from the b-pillar. 

Then pull the lower mounting bracket out from the plastic trim.  



4. Take your Proarmor door and insert the lower 

mounting bracket through the plastic trim. Then line up 

the upper mounting bracket to the b-pillar.  

5.  Loosely fasten the upper mounting bracket using the 60mm 

M8 bolt (Item 13) and the M8 nyloc nut (Item  12) . Loosely 

fasten the lower mounting bracket using the 25mm M8 bolt 

(Item 5) and the M8 nyloc nut (Item 12).  



6. Assemble the latch  (Item 1 & 2)  with the knob (Item 4) 

using the 30mm M6  button head bolt (Item 10) and the 

M6 nyloc nut (Item 14).  

7. Loosely fasten the latch assembly to the door.  Use 

the 30mm M6 button head bolts (Item 10), the latch 

fastener (Item 3), and the M6 washers (Item 11).   

8. Open and close the door. Adjust the position of the 

door and the latch itself until you can smoothly open 

and close the door with no binding. You may have to 

adjust the position of the striker plate on the car itself 

as well.  Once you are satisfied with the operation of 

the door torque down all mounting bolts, latch fas-

tening hardware and striker plate if necessary.  

9. Place an adhesive rubber strip (Item 15) where 

the door meets the plastic trim at the lower front 

corner. This will eliminate any unwanted audible 

vibration between the door and plastic trim.  



12. Take the door limit strap (Item 6 & 7), loop it around the chassis tube, and shoot it through the slider 

bracket as shown below.  Then take the M6 button head flanged bolt (Item 8) and the M6 acorn nut (Item 9) 

and fasten the other end of the door limit strap to the tab on the door frame.  

13. Finally, make sure all hardware and parts are properly fastened and that both doors are securely latched 

before operating vehicle. Installation is now complete.  

HARDWARE LIST: 

For further information on installation instructions and warnings please visit our website   WWW.PROARMOR.COM or contact 

customer service at 1-888-31-ARMOR 

12. Repeat aforementioned steps to install opposite side door.  




